BF 4000m

G 4L K % 2 FiE Bz 44 L K 4 22 @

101231 B BER 1 E4 6101739 Iy HE 1 ER

2/0:13:03/ %5k K |1 FEZ 62 0:18:16 JE2 =B 1 B

301322 N8 &= 2 HXEZ 63 0:18:17 #H fifith 1 FEEARTUXE

401322 Ah BREE | 2 BAET 640:18:22 AL FEERL | 1 |[BEARTURE

50:13:227 mME%H =24 1 B 650:19:17 8 KE 1 EX

6/0:13:29/ILO FE% 1 B 66/0:19:55 FIMA #NEy | 2 |FRE

701352 Jllot BF | 3 vodEExRE 67

8 0:13:54 IUT % 2 E4 68

9/0:1401 2K £= 2 E% 69

10/0:14:01 IE2Z E& 1 E£T 70

1101405 XK EE | 1 ARl Al

12/0:14:15|F%)1l #A 1 E4T 72

13 0:1415 KR =X | 2 WHEE 73

1401420 F8 XKE |1 = 74

1501423510 T|/AE |1 F= 75

160:14:23 t¥ #& 1 F— 76

17 0:14:25 3Rk K 1882 |1 &= 77

18/0:14:25 FF 1% 1 ER/T 78

19/0:14:30 [BEF Bk | 1 HKRKES 79

20 0:14:36 #2A& fBEE 1 BEATURE 80

21 0:1443 ' F B} 2 HEXRIE 81

22 0:14:48 B 1AL 2 |Fre 82

23101448 AT BER |1 ELI 83

24101458 ZZH B&E 1 EX 84

2501502 ;% KX 2 EXE4L 85

26 0:15:06 315 B 1 BEX 86

27/0:15:08 BTE HE& 1 0B 87

28/ 0:15:14 {F:E Ef 1 E8 88

29/0:15:16 FELL 2 |HEARdL 89

300:15:17 8 #HE 1 BRX 90

31/0:15:20 K F# | 2 [BEATURE 91

32 0:15:21 HIR WK | 2 F— 92

33 0:15:23 12 [&iE 1 B 93

34/0:15:27EH B= 1 E&T 94

35 0:15:28 K BN 1 Fiae 95

36/0:15:34 L IR 2 ErE 96

37/ 0:15:38 3k P 1 BEW 97

38/0:15:41| AL &% 2 |BER 98

39 0:1543 sk f@pk 1 HEXRI 99

40 0:15:43 K+ ({8 | 1 BEATUREL | 100

41/0:15:43 B KB |1 FLRE 101

42 0:15:45 XS HRHEEB 2 BAX 102

43/0:15:45 Fk BN 2 £= 103

4401546 K5 1BK 2 BAX 104

45/0:15:51 BEKE #E| 1 £— 105

46/0:15:52 2K BN | 2 BLE 106

47 0:15:53 AR fiK 2 FAB 107

48/0:15:59 PR $ 1 [BER<TURN 108

49 0:16:14 KA i 1 FaR 109

5010:16:31 5@ —th 3 [vo<izEExE | 110

51/0:16:37 LLUKF s 1 B 111

52 0:16:41 HER BRE |1 EZ 112

53/ 0:16:45 2K BKX 1 EX 13

54 0:16:48 EH & 2 BX 114

55/0:16:52 HHIBF KB 2 R 115

56 0:16:56 LLUf Fik | 2 BX 116

57/0:17:02 AKX Kl 2 FErE 17

58 0:17:07 R 2 AR 118

59 0:17:27 LU #2—B 1 FARE 119

60 0:17:34 BREE% %t 2 BX 120




BF 6000

B 44 L K % 2% FRE IBGZ] 444 K & #¢ FRE B 444 K % 25 FRE
101819 rE & 3 RN ZRE 51 0:20:12 I8 % 2 [L—F%EE 101 0:22:33/ 8L B2 1 BEARTE
2/0:18:20| 5k A& & 2 RN ERE 52 0:20:13 FRE ZEX 1 BA%T 102 0:22:35 F& HEtH 2 HF—
3101825 R A EH | 3 B 53 0:20:13 BITH ®=E @ 2 F#H 103/0:22:38 FFBF KE 2 EAX
40:18:29 Ft £ EIR | 2 SUINERR 54 0:20:16 ¥4 2EE 2 A% 104 0:22:39 D ¥AF | 2 HFE—
50:18:35 ;L s | 3 SRR 55/0:20:20 H# B 2 | =R 105 0:22:39 fAER F& 1 ¥t
6/0:18:37 =4 BHZ 2 B 56/0:20:20 ¥ £ @2z 2 |FrE 106 0:22:40 §%f &= |2 B
70:18:39 tHE K 3 RN ZRE 57 0:20:24 BiH 2 1 BEART 107 0:22:55 4I8 BE | 2 H—
8/0:18:43| B HEK | 3 SRR 58/0:20:28 1L EFE 2 BEART 108 0:23.03 ;BfR #HFE 1 BEM
9/0:18:45 AJIl EX 2 |BEATL 59 0:20:29 HEE BiE 1 B 109 0:23:05 E& #i 2 BrE
10/0:18:45 3@l TR 1 B 6002031 dt& & 2 | ELT 110 0:23:07 ¥4t £F | 2 FrE
110:1846 2K [ZME | 3 AMZERR 610:20:32/ %0 ZEKEA 2 FA# 111 0:23:13 ;EH HHE 2 EX
12 0:18:46 ithi8 FEAER| 2 REATL 62 0:20:35 Zsk KK |1 B 112 0:23:15 HE HA 2 E&Z/T
13/0:1852 AfRH [E | 2 = 63/ 0:20:36 3t EFE 2 KB 113 0:23:20/ 88 [F 3 VDOKITEERE
14/0:18:53 38 #EA 1 2R 64/0:20:37 &% 3K 1 FEE 114 0:23:48 {FE& & 3 vodE®xE
15/0:18:54 5k 3 Ef 3 RN RE 65/0:20:40 3R FiE | 2 BEM 115 0:24:03 FJIl fFt | 1 FRE
16/0:18:59 | #&H = 3 F+ 66 0:20:43 FEHE Sl 1 B 116/0:24:11 HO BB 2 BEEAXRIL
17 0:19:07 HEA K | 2 FiEme 67 02047 BE 1 %F— 117 02415 &8 XKF1 1 | /\K
18/0:19:08| &2 A PEFR 1 B 68 0:20:49 FF [EFR 1 B 118 0:25:14 FRZE FHER | 3 vodicmzxiE
19 0:19:11 E0Hh 3% 1 B#H 69 0:221:03 K8 F1&E |1 B 119 0:26:17 BTE $EE | 3 vodEExE
20 0:19:13 {Rk KM 3 FIRE 70 0:21:05 lUA &E |1 J\{t 120 0:26:23 £&t £FE 1 |jvoicEExiE
2101915 BEFH —3 2 BEAT 71 0:21:07 &y RE 2 Fre 121/0:26:36 1L 1 B
22 0:19:19 fiyigk 22 1 S 2R 72/0:21:08 ¥AH FESEH 1 | AMERR 122
23/0:19:21 1 EX 1 BRI 73 02113 54t BmHR |1 )\t 123
24/0:19:22|Fah ZEE | 3 | AR 7402114 FtH ZF 1\ 124
25/0:19:23/JI| £ WME @ 3 B 75/0:21:15 a4t BR3 | 1 EEART 125
26/0:19:24|FH —8 |1 AT 76/0:21:17 ¥l FEFE 2 BEFR 126
27 0:19:24 {thEH EX 1|FRE 77/0:21:18 Ki* 2 B 127
28/0:1927 XE BEE 3 BRI 78 0:21:223=3R #iE 2 HAE 128
29 0:19:30 HNEEF WK 3 JuIERE 79 0:21:23 sF)Il fRFE | 2 Fx 129
30 0:19:30 AR BHE 2 REAT 80 0:21:23/lUA Ki&F 1 EH 130
3101931 18BAR B 2 B 810:21:24 FH =&MW 1 - 131
320:19:34 2T A 2 B 820:21:24 He 1 X 132
33/0:19:35 A HiE | 3 |BEF 83/0:21:25/3iB A 1 KL 133
34/0:19:37 B4t AR 2 BAE 8402126 Hf HE 1 F&/T 134
35 0:19:41 K{ER #IZE 3 FIRE 85 0:21:27 th¥t BK 1 BEEH 135
36 0:19:42 & FEKER | 2 F— 86 0:21:30 ;T K¥# 2 HKFr2 136
37/0:119:44 FH X—BER 2 HEXES 8702131 AKX BF 1 B 137
380:19:45 AIF FE 3 FREAE 88 0:21:34/ AT 1BE | 1 REXIL 138
39/0:19:46 NEF ¥& 3 FRE 89 0:21:36 &k =3} 1 BB 139
40/0:19:48| H B EE 2 |BEAT 90 0:21:37 IUF HT|AE 2 FREB 140
41/0:19:49|14Pq =& 3 B 91 0:21:43 B+ #1 18- 141
42/0:19:50 IE[E EH |1 BAT 92 0:221:45 3710 BEE | 2 BERE 142
43 0:19:50 3= $RE1 | 2 B 03/0:21:48 #&5 |E @ 2 |FRE 143
44/0:1954 KT BEL | 2 L=k 94/0:221:55 FH ZFE 1 EX 144
45 0:19:55 TH Eis 1 FES 95 0:21:56 KIE H3 3 B 145
46 0:20:05 JEE =3 | 2 AR 96/0:22:04 JtfE Wth @ 2 ER 146
47 0:20:08 FE#E AR 2 B 97 02213 7 H EX | 1 J\K 147
48/0:20:10 Nt & 2 |E/T 98/0:22:18/ ¢t 1A 2 KRB 148
49/0:20:11|4HMA RE 3 |FEE 99 0:22:30 AL F 1 BB 149
500:20:11 ;&K 1 B 100 0:22:32 3ZFK #KX |1 Fx 150







ZF 2000m

IBHL 44 L K & #= @R
100701 ;HE RIEE 2 ERES
2/0:07:05| = E 5= 3 HEBEKEH
300706 5 FE 1 TRE
4/007:15 5l BF | 3 BEAREE
5/0:07:15| 5 & 18 2 HBKEH
6/0:07:18 #ALl 3F4 | 3 BEEARIEE
7 007:26 {REK B 1 |HH
8/0:0727 FE HiE 2 ME
9/0:07:30/f8&7k DT |1 BAEE
10 0:07:34 BB Z%EH 1 FEE
110:07:45 HiE %k 2 REAdL
12 0:07:45 /Il B0 | 2 W
13/0.07:45 #A%F EEEE | 1 |
14 00750 AH &ZE 1 E£
15/0:07:56 UPR EBE 2 AEAIL
16 0:07:59 EA = 1 | &R
17/0:08:02| K+ 438 1 [&1§H
18 0:08:04 HH [BHM | 1 RN
19/0:08:04 = BAHZE | 2 |
20/0:08:13/h4E EF | 2 (@i
210:08:16 (L #EF1 | 1 | E#
22/008:19/1BA EHi 1 BN
23 0:08:22 i E Ogf- | 2 E—
24/0:08:25 FT)l| BR |2 FRE
2500831 FR =% 1 B
26/0:08:32 £H F 1 BBAREE
27 0:08:36 ‘B 133 2 REAdE
28/00841; I HE 1 EX
29 0:08:41 |5 B S
3000842 FAK EE 2 EX
31/0.08:46 fiallF A 2 KRB
3200850 BER HE 1 EH
33 0:08:54 Il HE 2 EX
3400856 AF fEE |1 FRE
35/0:09:03 &5k ZH 18-
36 0:09:14 B E£EBE 1 Fre
37/0:09:20 FJIl IREE | 1 vocizESEXNE
3800921 =1 BEE® 1 EA
39, 0:09:21 IZFAR FEM 2 EA
40 0:09:22 FIE [BE 2 EX
41009:23 KiE RE 1 BR
42 010133RH#E E£B 2 EA
43/0:10:13 A IDHE 1 EAX
44
45
46
47
48
49
50




ZF 4000m

B 44 L K 4 2 B B 44 L K 4 & iR
101356 BHE B 2 | FELS 510:18:22 hdt ILE | 2 BEARIL
2/0:13:58 #&H BEIE 2 REARES 52/0:18:30 fHE BE | 2 BEAIt
3/0:13:59/5M ®ATE 2 FRA 53
401402 ElF Fix 2 FEE 54
50:14:04 4K A 2 HEAREESE 55
6/0:14:05 & =3 2 E4 56
7101413 AR FF 2 EXEE 57
8/0:1414 XA DtiE 1 FRE 58
9/0:1415 HE &5 2 Xf&E 59
10/0:14:18 3A 3 2 | FEE 60
1101423 1L BE | 2 HH 61
12 0:14:25 {858 TEE | 2 HH 62
13 0:14:26 jthH EARF| 3 BEREE 63
14/0:14:28 KB %8 2 EBEKEH 64
150:1431 BE KRFE 2 X{&E 65
16/0:14:36 &£ EEB | 2 HH 66
17/0:14:36 lUE BRAEE 2 |FIRE 67
18/0:14:41 &4 Bt 1 BEARES 68
19 0:14:42 #AK BRI | 2 BER(ESR 69
20 0:14:43 EfF FEW | 2 B 70
21/0:14:45| T fH%E 2 REKEH | N
22/0:1447| LH #WEATE 2 |AH 72
23/0:14:48 K15 Hmtst 1\ 73
2401450 2K KRHE 3 BREE 74
250:15:00 28 #HE 2 FES&E 75
26 0:15:09 JIlFA FE 3 BEBXREE 76
27/0:15:14[IUTF #EE 1 BEXEES 77
28/0:15:19 8B 1L1 &< 1 | L—TILERR 78
29 0:15:21 #FXH BE<ER 1 | V—TF L0 79
30/0:15:21 FIf® FIE 3 (i 80
310:15:32 Bk FEAE 1 E4 81
32 0:15:33 A <5H 3 BEXREE 82
33/0:15:34/ /770 FE | 2 AW 83
340:15:35 [l BTE | 1 L—TL%k 84
350:15:35 B HF 2 ¥+ 85
36 0:15:36 2 HikE |2 FRE 86
37 0:15:40 3 #IE 1 L—T IR 87
38 0:15:41 /pEHR EBE 2 /\R 88
39/ 0:15:49 8K HIaH 2 I\ 89
40 0:16:05 ;BH X&F 2 AH 90
410:16:09 %% FE 2 FRE 91
42 0:16:09 &1L #0 2 & 92
43/0:16:26 AAX #E 1 |/\K 93
44016:37 5 i 1 iEfw 94
45/0:16:47 FR2 EK |2 F* 95
46/0:17:01 HJIl #FEi 2 Xf& 96
47 0:17.05 &% #=F= | 2 F= 97
48 0:17:37 HE Y% 2 FRE 98
49/0:17:50 fB & #EEE 1 BRIt 99
50 0:18:04iE:2 EHiv | 2 BEAI 100




